
48 ÷               = 2 × 3   

Which one of the following fractions is greater than          ?3
4

(1)                            (2)                             (3)                             (4) 1
3

4
8

5
?

3
7

7
8

7
10

8 tens + 50 hundreds = 

Find the missing denominator.

Fill in the blank so that both sides of the equation are equal.

1

2

3

4
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(1) 58                    (2) 580                    (3) 508                    (4) 5,080

(1) 10                    (2) 6                    (3) 5                    (4) 8=

For the answer key, go to
blog.sparkedu.com/thanksgiving-worksheets

http://sparkedu.com/
http://blog.sparkedu.com/thanksgiving-worksheets


Fill in the blanks.5

(a) 3 h =                 min                    (b) 240 min =                  h                    

When a number is divided by 9, it has a remainder of 5. The number is between 30 and 40.
What is the number?    

A box has 249 red buttons. There are 8 times as many blue buttons as red buttons.
How many red and blue buttons are there in the box altogether?
   

6

7

8

What is the perimeter of the square below?

(1) 14 cm                   (2) 27 cm 

(3) 18 cm                   (4) 36 cm

9 cm
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